W h at iS ‘t e al t ? Now the mice are putting apples, acorns and stones on the see-saws.
I q u 0 . Draw more things to make them balance and then fill in the boxes.

The mice need the same number of apples on each side to balance e ol 2

the see-saw. Count the apples and trace the numbers in the boxes.

is not the same amount as

apples apples

The mice have added 2 more apples to make the see-saw balance.

+ is the same

"""" amount as

8 apples add 2 apples equals 10 apples.
Instead of writing words to show the
amounts are the same, you can just use
the equals sign. Olly is pointing to it.
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